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Time allowed: 25 Minutes

PHILOSOPHY HSSC-I 8
SECTION — A (Marks 20)

[Version Number [4]3 [4 |1 |

Note:

Section ~ A is compulsory. Al parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Choose the correct answer A/ B/ C /D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1)

8)

9)

10)
11)
12)
13)
14)
15)
16)
17)
18)

19)

20)

Which subject deals with the art of reasoning?

A Ethics B. Aesthetics C. Logic B. Epistemology

Who wrote "Arganon™? :

A Plato B. Aristotle C. Kant - D, Descartes

Who said “Logic is a key to Metaphysics™?

A Liebnitze B. Descartes C. Zeno D. Hegal

Who wrote “Principia Mathematica’?

A Zeno and Parmanides B. Russel and Whitehead

C. Plato and Aristotle : - D. Descartes and Spinoza

The word *Logic” is derived from:

A Greek language B. Latin Language

C. Arabic language D. Persian language

Universat affirmative proposition is represented by: '

A A B. E C. | D. 0

Particular negative proposition is represented by:

A A B. E C. I D. 0

Which terms are distributed in “E" proposition?

A. Subject only B. Predicate only

C. Subject and predicate D. Neither subject nor predicate

Which terms are distributed in “I" proposition?

A Subject only B. Predicate only

C. Subject and predicate D. Neither subject nor predicate

If “A" is true, “E” is:

A. True B. False C. Unknown D. None of these

If"A" is false, “E” is:

A True B. False C. Unknown D. None of these

If “A" is true, “I" is:

A True B. False C. Unknown D. None of these

If“E" is false, “Q" is:

A, True B. False C. Unknown D. None of these

If “I" is false, "A" is:

A. True B. False C. Unknown D. None of these

If “A" is false, "O" is:

A True B. False C. Unknown D. None of these

If“E” is true, “I” is:

A True B. False C. Unknown D. None of these

If Q" is true, “A” is:

A. True B. False C. Unknown D. None of these

If “I" is true, "0O" is:

A. True B. False C. Unknown D. None of these
- Which fallacy is committed, if minor term ig distributed in conclusion but undistributed in minor

premise? '

A. Fallacy of Undistributed middle term B. Fallacy of dllicit minor term

C. Fallacy of illicit major term D. Existential fallacy

Which fallacy is committed if middle term is undistributed in both premises?

A Existential fallacy B. Fallacy of illicit mincr term

C. Fallacy of illicit major term D. Fallacy of undistributed middle term
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Time allowed: 2:35 Hours

PHILOSOPHY HSSC-II

g7

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer bock. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.
SECTION = B (Marks 50)
Q2 a Answer any FIFTEEN parts. Be brief and to the point in your answer. {15 x 3 = 45)
(D) What is the difference between truth and v’élidity?.
(iD) What is format fruth?
(i) What do you now about the fallacy of appeal to emotions?
(iv) What is the fallacy of complex guestions?
(V) Describe the fallacy of equivocation.
{vi) What do you know about the fallacy of accejnt?
{vii) What are particular propositions? | i
{viii) Describe. the negative propositions. ‘
{ix) What is law of non-coniradiction? |
{x) What do you know about the first figure of syllogism?
{xi) What do you know about the fourth figure of syllogism?
{xii) Draw the venn diagram of "E” proposition.
{xiiy  Draw the venn diagram of "I” proposition.
{xivi  Describe variables.
{(xv) What do you know about the truth table of conjunctive propositions?
(xvi)  Write the truth table of implicative propositions.
(xvii) What is scientific generalization? |
(xviii) Describe enumeration. |
(xix)  What do you know about minor term?
(xx) Write a short note on major premise.
(xxi)  What do you know abaut the conclusion of syllogism?
b. Attempt any ONE part. (1x5=5}
(i} Which fallacies are committed in the following syllogism? [l = II
(i) Which fallacies are committed in the following syllogism? AAQ => TII
SECTION — € (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3x10 = 30)
0.3  Write a detailed note on the importance of logic.
Q.4  What are the important uses of [anguage.
Q.5 Write a detailed note on Analogy.
Q.6 What are the characteristics of a good hypothesis?
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